ecl-induction®??

Vds:x:1d fp— Type;, da:k:Knd fp— Type;, P:(ecl(ds;da)—Propy).
(Vk Knd, test:(State(ds)—Valtype(da;k)— B). P(eclbase(k;test)))
= (Va, b:ecl(ds;da). P(a) = P(b) = P(eclseq(asb)))

(Va, becl(ds;da). P(a) = P(b) = P(ecland(a;b)))

(Va, b:ecl(ds;da). P(a) = P(b) = P(eclor(a;b)))
(Vazecl(ds;da). P(a) = P([al+))

(Vazecl(ds;da), n:N. P(a) = P(a.n))
(Va:ecl(ds;da), n:N. P(a) = P(eclthrow(a;n)))
(Va:ecl(ds;da), I:N List. P(a) = P(eclcatch(asl)))
= {Vx:ecl(ds;da). P(x)}

=
=
=
=
=
=

http://www.cs.cornell.edu/Info/Projects/NuPrl/FDLcontent /p0-286125_/p63-277025_{ ecl-induction}.html



